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27 mvwenv 97 94 98 99 92 97 91 668 95.43 gy:Avjv 1g

28 Avb-wbQv 97 93 91 98 97 96 96 668 95.43 gy:Avjv 1g

30 ZvbwRjv 90 92 99 98 99 99 90 667 95.29 gy:Avjv 2q

29 dvwZgv Zvgvbœv 94 94 90 86 96 98 92 650 92.86 gygZvR 3q

32 wgm wjRv 91 88 92 96 95 90 77 629 89.86 gygZvR 4

31 mvwgqv myjZvbv 82 88 93 97 94 89 73 616 88 gygZvR 5

37 Zvgvbœv 87 75 82 84 91 85 83 587 83.86 gygZvR 6

39 ZvbwRjv 85 78 81 95 85 90 65 579 82.71 gygZvR 7

36 mvbwR`v 73 76 73 93 86 89 80 570 81.43 gygZvR 8

35 Avwe`v gxg 78 66 73 84 90 80 76 547 78.14 Rv:wR: 9

40 AvwL Av³vi 78 57 83 90 88 80 66 542 77.43 Rv:wR: 10

33 ‡gnwib AvLZvi 67 67 89 70 86 81 71 531 75.86 Rv:wR: 11

38 bykivZ Zv¤§x 77 68 78 82 78 87 61 531 75.86 Rv:wR: 11

41 dvwZgv 40 60 46 86 63 78 40 413 59 Rvwq¨` 12

43 mygvBqv AvLZvi 41 40 57 80 59 61 41 379 54.14 Rvwq¨` 13

172 gxg Av³vi 45 40 48 45 40 42 40 300 42.86 gvKeyj 14

42 mvweKzbœvnvi 40 47 41 40 74 74 33 349 49.86 gvKeyj 15

44 ‡gvmv: nvwjgv 15 47 45 73 66 72 26 344 49.14 ivwme 16

45 RvbœvZx gxg 30 41 20 70 67 71 30 329 47 ivwme 17

34 jyevev Av³vi 40 18 42 41 76 41 28 286 40.86 ivwme 18

 wet ª̀t- †h ‡Kvb GK welq AK…ZKvh© n‡j gvKeyj Ges GKvwaK welq AK…ZKvh© n‡j ivwme wn‡m‡e we‡ewPZ n‡e|

cix¶v_©x 20Rb: gy:Avjv 03Rb,gygZvR 06Rb, Rv:wR: 04Rb, Rvwq¨` 02Rb, gvKeyj 02Rb, ivwme 03Rb|

gy:Avjv= 90-100 (cÖ‡Z¨K welq)  

gygZvR=80-89                          

Rvwq¨` wRÏvb=65-79                  

Rvwq¨`=50-64                              

gvKeyj=40-49                            

ivwme= 0-39

           `viæj Dj~g evwjcvov KIgx gv`ivmv (evwjKv kvLv) 1445-46wn.


